If A is a triangular matrix, then det A is the product of the entries on the main

diagonal of A.
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a. If a multiple of one row of A is added to another row to produce a matrix B,

then det B = det A.

b. If two rows of A are interchanged to produce B, then det B = — det A.

c. If one row of A is multiplied by k to produce B, thendet B = k - det A.
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V3 Row Operations
/ o .
AF] i Let A be a square matrix.

Y «N\; —d(, -=a. If a multiple of one row of A is added to another row to produce a matrix B, |
then det B = det A. [

— ;<7 ¥y —>b. If two rows of A are interchanged to produce B, then det B = — det A.
c. If one row of A is multiplied by k to produce B, then det B = k - det A.
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Row Operations
Let A be a square matrix.

a. If a multiple of one row of A is added to another row to produce a matrix B,
then det B = det A. —

b. If two rows of A are interchanged to produce B,then det B = —det A. —
c. If one row of A is multiplied by k to produce B, thendet B = k - det A. -
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—)REM 4 A square matrix A is invertible if and only if det A # 0. S
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